

Current treatment and outcome of esophageal perforation

A single-center experience and a pooled analysis

Yufeng Deng, MS^a, Luqi Hou, MS^b, Dianyue Qin, MS^a, Ting Huang, BS^a, Tianzhu Yuan, MD^{a,*}

Abstract

Background: Esophageal perforation has been one of the serious clinical emergencies, because of the high mortality and complication rates. However, the current prognosis of esophageal perforation and the outcomes of available treatment methods are not well defined. This study attempted to pool the immediate outcomes of esophageal perforation in the past 2 decades.

Methods: The clinical data of 22 consecutive adult patients with esophageal perforation in our center were analyzed. A pooled analysis was also conducted to summarize results from the literatures published between 1999 and 2020. Studies that met the inclusion criteria were assessed, and their methodological quality was examined.

Results: The mortality and complication rates in our center were 4.55% and 31.82%, separately. The pooled analysis included 45 studies published between 1999 and 2019, which highlighted an overall immediate mortality rate of 9.86%. Surgical treatments were associated with a pooled immediate mortality of 10.01%, and for conservative treatments of 6.49%. Besides, in the past decade, the mortality and complication rates decreased by 27.12% and 46.75%, respectively.

Conclusions: In the past 2 decades, the overall immediate mortality rate of esophageal perforation was about 10% in the worldwide, and the outcomes of esophageal perforation treatment are getting better in the last 10 years.

Ethics Registration Information: LW2020011.

Abbreviations: 95% CI = 95% confidence intervals, CT = computed tomography, EP = esophageal perforation, MeSH = Medical Subject Headings, PRISMA = preferred reporting items for systematic reviews and meta-analyses.

Keywords: complication rate, esophageal perforation, mortality rate, pooled analysis, retrospective study

1. Introduction

Esophageal perforation (EP) is a sudden, rare, and severe clinical event. It has been one of the serious clinical emergencies. Once perforation occurs, timely diagnosis and treatment must be made

Editor: Robert Chen.

This work was supported by the Self-financing Research Project of Guangxi Health Commission (grant Z20201315).

The present study was approved by the Research Ethics Committee from Fourth Affiliated Hospital of Guangxi Medical University (LW2020011).

The authors have no conflicts of interest to disclose.

All data generated or analyzed during this study are included in this published article [and its supplementary information files].

^a Department of Cardiothoracic Surgery, ^b Department of Research and Education, Fourth Affiliated Hospital of Guangxi Medical University, Liuzhou 545001, China.

* Correspondence: Tianzhu Yuan, Department of Cardiothoracic Surgery, Fourth Affiliated Hospital of Guangxi Medical University, Liuzhou 545001, Guangxi, China (e-mails: ytzh0306@163.com, tzh.yuan@qq.com).

Copyright © 2021 the Author(s). Published by Wolters Kluwer Health, Inc. This is an open access article distributed under the terms of the Creative Commons Attribution-Non Commercial License 4.0 (CCBY-NC), where it is permissible to download, share, remix, transform, and buildup the work provided it is properly cited. The work cannot be used commercially without permission from the journal.

How to cite this article: Deng Y, Hou L, Qin D, Huang T, Yuan T. Current treatment and outcome of esophageal perforation: A single-center experience and a pooled analysis. Medicine 2021;100:16(e25600).

Received: 3 November 2020 / Received in final form: 25 February 2021 / Accepted: 2 April 2021

http://dx.doi.org/10.1097/MD.000000000025600

immediately. Otherwise, digestive juices may overflow through the perforation, which can result in a serious inflammation in the peritoneal cavity. It can even make death because of the systemic toxic symptoms caused by acute suppurative infection.^[1,2]

Esophageal perforation can occur in the cervical, thoracic, or abdominal esophagus. There are many iatrogenic causes including endoscopic examinations, surgical procedures, placement of tubes and intubation, the non-iatrogenic causes may include spontaneous rupture (Boerhaave syndrome), thoracic trauma, swallowing foreign bodies, and penetrating wounds. Esophageal perforation presents high mortality rate ranging from 4% to 40%. It even has historically been associated with a mortality rate around 90% before the antibiotic era.^[2]

Over the past 20 years, thanks to the continuous improvement of treatment, there is a significant improvement in treatment outcomes compared to those of the past.^[3] In the present study, we planned to pool the immediate outcome of this emergency condition in the past 2 decades, and evaluate the efficacy of current treatments following esophageal perforation. To achieve this goal, we analyzed the clinical data of consecutive adult patients with esophageal perforation in our center from 2010 to 2020, and then conducted a pooled analysis to summarize results from the literatures published between 1999 and 2020.

2. Methods

2.1. Retrospective study

The present study was approved by the Research Ethics Committee from Fourth Affiliated Hospital of Guangxi Medical University (LW2020011). We reviewed all cases of esophageal perforation treated in the Department of Cardiothoracic Surgery, Fourth Affiliated Hospital of Guangxi Medical University between 2010 and 2020. The diagnosis of esophageal perforation was established on the basis of clinical presentation, computed tomography (CT), contrast esophagram, and endoscopic evaluation. We analyzed and reviewed most of important clinical data, including cause, the site of the perforation, treatment, and outcome.

All patients were followed up until discharge or death. Mortality is defined as death within 30 days or during the same hospitalization, and morbidity is defined as nonfatal complications.

2.2. Pooled analysis

2.2.1. Search strategy. The guidelines for preferred reporting items for systematic reviews and meta-analyses (PRISMA) were applied in the study.^[4] We identified procurable studies published from 1999 up to 2020. An English-language literature review was performed through Web of Science, PubMed, and Cochrane Library databases for any study-evaluating outcome after treatment of esophageal perforation. The following combined text and Medical Subject Headings (MeSH) search strategy was used to search the databases mentioned above: ([Esophageal] OR oesophageal] AND [rupture OR perforation]) AND (treatment OR management). We also examined conference proceedings and the references from retrieved articles for additional relevant publications.

2.2.2. Inclusion criteria. The included studies in the pooled analysis met the following criteria:

- 1) a full article published in English language;
- 2) physician-confirmed esophageal perforation;
- 3) prospective or retrospective observational studies that included at least 20 perforation cases with more than 1 type of etiology;
- 4) included adult patients;
- 5) reporting on in-hospital or 30-days mortality after any kind of treatment;
- 6) presentation of original data;
- 7) published after January 1999.

If the results of a study had been published in more than 1 publication, only the one with the most complete information was included.

2.2.3. Data extraction and assessment of the methodological quality. The primary outcome of this review was inhospital or 30-days mortality, which can be defined as death during the hospital stay or the 30-day postoperative period. The complication rate was considered a secondary outcome measure.

Two investigators independently extracted information from the included studies, including first author, year of publication, study period, number of patients, main treatment modality, inhospital/30-day mortality, and complication rate. Any disagreements were resolved through discussion.

The main treatment modality included surgical treatment and conservative treatment. The surgical treatment was defined as modalities that had directly accessed to the perforation, such as primary suture repair with or without tissue reinforcement or esophagectomy. The conservative treatment included nonsurgical treatment or endoscopic treatment that did not repair the fistula, but used an invasive procedure. The fasting, prolonged parenteral nutrition, use of broad-spectrum antibiotics, and percutaneous drainage under CT or ultrasound guidance were also considered as conservative treatments.

All studies included in the pooled analysis were evaluated regarding their quality according to GRADE classification of Cochrane handbook.^[5]

2.2.4. Statistical analysis. A pooled proportion estimate and its 95% confidence intervals (95% CI) were obtained by weighting those of specific studies. To examine the heterogeneity, we performed the Higgins I^2 test.^[6–8] The I^2 value describes the percentage of total variation across studies due to heterogeneity rather than chance. The value of I^2 ranged from 0% (no observed heterogeneity) to 100% (maximal heterogeneity). We calculated the summary proportion and its 95% CI based on the fixed-effect model if a substantial heterogeneity was not found ($I^2 \leq 50\%$). Conversely, we calculated the pooled proportion and its 95% CI based on the random-effect model, if the substantial heterogeneity was found ($I^2 > 50\%$). Statistical analyses were performed using the freely downloadable software package META (version 4.11-0) for R (version 3.6.3).^[9–11]

3. Results

3.1. Retrospective study

During the investigational period, a total of 22 consecutive patients with esophageal perforation were treated at our center. The patient characteristics and univariate predictors of mortality, morbidity, are shown in Table 1.

The 22 patients comprised 14 (63.64%) men and 8 (36.36%) women, with a mean age of 64.18 years (ranged from 41 to 85 years). The treatment for most of the patients started within

Table 1

The patient characteristics and univariate predictors of mortality, morbidity.

Variable	No. of patients	Mortality	Morbidity
Sex			
Male	14	1	6
Female	8	0	1
Cause of perforation			
Spontaneous	5	1	3
Foreign body	16	0	4
latrogenic	1	0	0
Location of perforation			
Cervical	6	0	0
Thoracic	16	1	7
Age (yr)			
<60	7	0	1
>60	15	1	6
Treatment			
Surgical	18	1	5
Conservative	4	0	2
Diagnosis/treatment dela	y time		
<24h	20	1	6
>24h	2	0	1
Thoracic infection			
Yes	8	1	6
No	14	0	1
Total	22	1	7

24 hours after the event, only 2 patients treated later than 24 hours (3 and 4 days, respectively). The perforation was spontaneous in 5 patients, foreign body-related in 16 patients, and 1 patient caused by iatrogenic rupture. Perforation was localized to the thoracic esophagus in 16 patients, and in the cervical area in 6 patients. Fourteen patients were mild cases without thoracic infection, the other 8 patients with thoracic infection. Eighteen patients were treated surgically and 4 patients were treated with a conservative approach.

Overall mortality for the entire group was 4.55% (1 death in 22 patients). The univariate analysis was done for the influences on mortality of independent variables sex, age, cause of perforation, perforation location, and treatment approach. There was no variable found to be associated with increased mortality.

The complications developed in 7 patients (31.82%). The univariate analysis was also done for the influences on morbidity of independent variables. There was a statistically significant difference between morbidity and the thoracic infection. The morbidity was higher in patients with thoracic infection than those without thoracic infection (75.00% vs 7.14%, P=.002). The perforation location was also found to be associated with morbidity. The morbidity rate according to perforation location was higher in thoracic perforation (43.75%), with statistically significant difference (P=.049) between cervical perforation (0%).

3.2. Pooled analysis

The flow diagram of the identification of relevant studies is shown in Figure 1. A total of 3154 references were identified through the main electronic databases and the bibliographies of relevant articles. After the exclusion of duplicates and criteria screening, 53 studies published between 1999 and 2019 met all the inclusion criteria, and were included in the final analysis.^[12–64]

All articles included were retrospective studies. There was no prospective study or randomized controlled trial detected. According to GRADE classification, the quality of studies can be evaluated as high, moderate, low, or very low. Table 2 shows the main characteristics of the included studies in the final pooled analysis. Throughout the 53 included studies, 3009 patients were evaluated. Besides, most of the studies (38/53) were of very low or low quality included.

3.3. Analysis of mortality

The mortality rate is a primary outcome for treatment of esophageal perforation. All the included studies reported immediate mortality (shown in Table 3). As shown in Figure 2, the overall immediate mortality was 9.86% (95% CI 7.73–12.20; $I^2 = 73\%$).

In all, 26 and 37 studies reported patients and deaths received conservative treatments and surgical treatments, respectively.



Figure 1. Selection of studies for inclusion in this pooled analysis.

Table 2

Characteristics of studies included in the final analysis.

First author	Year of publication	Study period	Study region	Cases	Mortality	Morbidity	GRADE quality
Lawrence	1999	1987-1996	UK	21	3	2	Low
Gaudinez	2000	1975-1999	US	44	2		Moderate
Ökten	2000	1986-1998	Turkev	31	9		Low
Suna	2002	1986-1999	Korea	20	1	9	Low
Tomaselli	2002	1990-1999	Austria	38	6	0	Low
Muir	2003	1985-2000	LIK	75	12		Moderate
Port	2003	1990-2001	US	26	1		Moderate
Amir	2004	1985-2001	Netherlands	38	0	23	Moderate
Gunta	2004	1986-2001	India	57	8	20	Low
lourion	2004	1980-2001	France	24	5		Low
Ruhikas	2004	1987-2001	Lithuania	84	16	36	Low
Chao	2005	1995-2002	Taiwan	28	3	13	Low
Richardson	2005	1985-2004	lls	64	1	10	Low
Vonel	2005	1992-2004		/7	2		Moderate
Kiernan	2005	1088_2005	20	48	6		Low
Frdogan	2000	1000-2000	Turkov	40	2	10	Low
Lindon	2007	1090-2000	LIC	20	2	20	Modorato
Criffin	2007	1909-2003		43	J 11	20	IVIOUEI ale
Criffithe	2000	1993-2007		40	0	04	LOW
Appea	2008	1990-2000	UK	34	0	24	LOW
Abbas	2009	1998-2008	US	119	15	/5	lvioderale
Amudnan	2009	1999-2007	India	48	3	18	LOW
Erogiu	2009	1989-2008	Turkey	44	5	12	LOW
Udeinow	2009	2001-2008	Germany	41	9	54	LOW
Hermansson	2010	1970-2006	Sweden	125	24	54	Moderate
Keeling	2010	1997-2008	US	97	8	57	Moderate
Unat	2010	1980-2008	Turkey	30	5	13	LOW
Schmidt	2010	1998-2006	Germany	62	9		Low
Shaker	2010	2002-2008	UK	27	5		Low
Vallböhmer	2010	1996-2008	Germany	44	3		Low
Vidarsdottir	2010	1980-2007	Iceland	24	0		Low
Haveman	2011	1985–2009	Netherlands	24	2	20	Low
Jiang	2011	1980-2010	China	42	0		Low
Kuppusamy	2011	1989-2009	US	81	3	31	Moderate
Minnich	2011	1998-2009	US	81	9		Moderate
Peng	2012	1985–2010	China	121	1	10	Low
Lin	2013	1997–2013	China	66	8		Low
Troja	2014	2004-2012	Germany	39	8		Low
Persson	2014	2003-2013	Sweden	48	8		Low
Aghajanzadeh	2014	2001-2011	Iran	26	2		Low
Ben-David	2014	2007-2013	US	76	1		Low
Biancari	2014	2000-2013	EU	194	34		Moderate
Navaneethan	2014	2007-2012	US	20	2	2	Low
Wahed	2014	2002-2012	UK	96	22		Moderate
Dziedzic	2016	2010-2015	Poland	102	10	10	Moderate
Ali	2017	2009-2013	US; Canada; EU	199	30		Moderate
Biancari	2017	2006-2015	Finland	43	4		Low
Law	2017	1997-2013	Hong Kong	43	10		Low
Fattahi Masoom	2018	1996-2015	Iran	27	1	4	Low
Han	2018	1993-2012	China	21	0		Low
Wialev	2018	2003-2017	UK	87	11	40	Low
Hauge	2019	2007-2014	Norway	21	1	3	Low
Vinh	2019	2009-2017	Vietnam	65	0	-	Low
Kang	2019	2008–2018	South Korea	28	3		Low

Table 3

Stratified analyses of mortality rate.

Stratified analysis	No. of studies	Overall mortality rate and 95% Cl	<i>l</i> ² (%)	Analysis model	Р
Treatment approach					.021
Surgical treatment	37	10.01% (95% CI 7.18-13.17%)	68	Random-effect model	
Conservative treatment	26	6.49% (95% Cl 2.82-11.11%)	52	Random-effect model	
Published year					.006
Before 2010	30	11.32% (95% Cl 8.64-14.28%)	61	Random-effect model	
After 2010	23	8.25% (95% CI 5.11-11.97%)	80	Random-effect model	
Hospital volume					.449
≥5 cases per year	16	10.48% (95% Cl 6.84-14.75%)	84	Random-effect model	
<5 cases per year	37	9.58% (95% Cl 7.02-12.43%)	63	Random-effect model	

Study	Events	Total	Proportion	95%-CI	Weight
Abbas	15	119	0.1261	[0.0723; 0.1994]	2.4%
Amir	0	38	0.0000	[0.0000; 0.0925]	1.8%
Amudhan	3	48 — • — —	0.0625	[0.0131; 0.1720]	1.9%
Chao	3	28	0.1071	[0.0227; 0.2823]	1.6%
Erdogan	3	28	0.1071	[0.0227; 0.2823]	1.6%
Eroalu	5	44	0.1136	[0.0379; 0.2456]	1.9%
Gaudinez	2	44 —	0.0455	[0.0056; 0.1547]	1.9%
Griffin	11	48	0.2292	0.1203: 0.3731	1.9%
Griffiths	8	34	0.2353	0.1075: 0.41171	1.7%
Gupta	8	57	0.1404	[0.0626: 0.2579]	2.0%
Haveman	2	24	0.0833	0.0103: 0.27001	1.5%
Hermansson	24	125	0,1920	[0.1271: 0.2721]	2.4%
Jiang	0	42	0.0000	[0.0000: 0.0841]	1.9%
Jougon	5	24	0 2083	[0 0713: 0 4215]	1.5%
Keeling	8	97	0.0825	[0 0363: 0 1561]	2.3%
Kiernan	6	48	0 1250	[0.0473: 0.2525]	1.9%
Kuppusamy	3	81	0.0370	[0.0077: 0.1044]	2.2%
Lawrence	3	21	0 1429	[0.0305: 0.3634]	1.4%
Linden	3	43	0.0698	[0.0146: 0.1906]	1.4%
Minnich	9	81	0.0030	[0.0140, 0.1300]	2.2%
Muir	12	75	0.1600	[0.0321, 0.2000]	2.2%
Oktop	12	21	- 0.2003	[0.0000, 0.2020]	1 7%
Onet	5	20	0.2303	[0.1422, 0.4004]	1.7 /0
Bong	1	121	0.1007	[0.0504, 0.5472]	2.40/
Port	1	26	0.0085	[0.0002, 0.0452]	2.470
Pichardson	1	20	0.0365	[0.0010, 0.1904]	1.5%
Richardson	16	04 ····	0.0156	[0.0004, 0.0640]	2.1%
Rubikas	10	64	0.1905	[0.1130, 0.2906]	2.2%
Schmut	9	82 — · · · · · · · · · · · · · · · · · ·	0.1452		2.1%
Shaker	5	27	0.1652		1.0%
Sung		20	0.0500	[0.0013; 0.2467]	1.4%
Iomaseili	0		0.1579	[0.0602; 0.3125]	1.0%
	9	41	0.2195	[0.1056; 0.3761]	1.8%
Valid mer	3	44	0.0682	[0.0143; 0.1866]	1.9%
Vidarsdottir	0	24	0.0000	[0.0000; 0.1425]	1.5%
Vogel	2	47	0.0426	[0.0052; 0.1454]	1.9%
Iroja	8	39	0.2051	[0.0930; 0.3646]	1.8%
Persson	8	48	0.1667	[0.0748; 0.3022]	1.9%
Aghajanzadeh	2	26	0.0769	[0.0095; 0.2513]	1.5%
	30	199	0.1508	[0.1041; 0.2082]	2.5%
Ben-David	1	76	0.0132	[0.0003; 0.0711]	2.2%
Biancari	34	194 —	0.1753	[0.1245; 0.2362]	2.5%
Biancari	4	43 —	0.0930	[0.0259; 0.2214]	1.9%
Dziedzic	10	102	0.0980	[0.0480; 0.1729]	2.3%
Fattahi Masoom	1	27	0.0370	[0.0009; 0.1897]	1.6%
Han	0	21	0.0000	[0.0000; 0.1611]	1.4%
Hauge	1	21	0.0476	[0.0012; 0.2382]	1.4%
Vinh	0	65	0.0000	[0.0000; 0.0552]	2.1%
Kang	3	28	0.1071	[0.0227; 0.2823]	1.6%
Law	10	43	0.2326	[0.1176; 0.3863]	1.9%
Lin	8	66	0.1212	[0.0538; 0.2249]	2.1%
Navaneethan	2	20	0.1000	[0.0123; 0.3170]	1.4%
Wahed	22	96	0.2292	[0.1495; 0.3261]	2.3%
Wigley	11	87 —	0.1264	[0.0648; 0.2150]	2.2%
Random effects model	2 - 0 0111	3009	0.0986	[0.0773; 0.1220]	100.0%
Heterogeneity: $I^{-} = 73\%$, τ	= 0.0116	p < 0.01 0 0.1 0.2 0.3 0.4			
Figure 2. Forest plot summarizing pooled immediate mortality rate after esophageal perforation.					

Surgical treatments were associated with a pooled immediate mortality of 10.01% (95% CI 7.18–13.17%), and for conservative treatments of 6.49% (95% CI 2.82–11.11%).

For different surgical treatment modalities, the immediate mortality was also pooled. The mortality after T-tube or any other tube repair was higher than others at 18.3% (95% CI 9.5–27.1%). The values of mortality after esophagectomy, primary

Table 4

Stratified analyses of complication rate.						
Stratified analysis	No. of studies	Overall complication rate and 95% Cl	<i>ľ</i> (%)	Analysis model	Р	
Treatment approach					.004	
Surgical treatment	8	48.72% (95% CI 38.02-59.87%)	74	Random-effect model		
Conservative treatment	5	37.29% (95% Cl 28.22-46.78%)	0	Fixed-effect model		
Published year					<.001	
Before 2010	13	48.62% (95% CI 41.92-55.35%)	67	Random-effect model		
After 2010	8	25.89% (95% Cl 11.45-43.45%)	93	Random-effect model		
Hospital volume					.060	
≥5 cases per year	7	36.20% (95% CI 18.45-56.10%)	96	Random-effect model		
<5 cases per year	14	41.61% (95% Cl 31.98-51.55%)	81	Random-effect model		

repair, and stent-grafting were 11.6% (95% CI 8.5–20.1%), 8.5% (95% CI 6.3–12.2%), and 6.9% (95% CI 3.5–11.5%), respectively. Studies published before 2010 had a pooled mortality of 11.32% (95% CI 8.64–14.28%), which is significantly lower than those published after 2010 had a pooled mortality of 8.25% (95% CI 5.11–11.97%) (P=.006).

In 15 studies, cervical perforations were associated with a pooled mortality of 6.2% (95% CI 3.5–8.8%). The pooled mortality was 10.5% (95% CI 7.5–14.2%) for thoracic perforations in 20 studies, and 13.2% (95% CI 4.6–25.2%) for intraabdominal perforations in 8 studies.

For different causes of perforation, the pooled immediate mortality for esophageal perforation after iatrogenic perforation was 12.8% (95% CI 8.3–18.9%) in 19 studies, it was 2.1% (95% CI 0.6–4.4%) caused by foreign bodies in 11 studies, and 15.2% (95% CI 12.3–19.9%) with spontaneous perforation in 21 studies.

Comparative analysis was performed for the effect of hospital volume on clinical outcomes. In 16 studies, the hospitals treated ≥ 5 cases per year. The hospitals treated < 5 cases per year in 37 studies. Mortality was not significantly different in those

hospitals (10.48%, 95% CI 6.84–14.75% for hospitals treated \geq 5 cases and 9.58%, 95% CI 7.02–12.43% for hospitals treated <5 cases) (*P*=.449).

In the included studies, 26 reported the timing of the esophageal perforation to treatment and the relationships to outcome. The pooled immediate mortality was 7.4% (95% CI 0.6–10.8%) for the patients received treatment was started within 24 hours after the occurrence of perforation, and it was 20.3% (95% CI 16.1–24.7%) for those treated later than 24 hours after the occurrence. The immediate mortality for treatments later than 24 hours after the occurrence was significantly higher than within 24 hours (P < .001).

3.4. Comparison of complication rates

The incidence of medical complications following esophageal perforation is another important parameter for treatment. The summarized complication rates were shown in Table 4. A total of 21 included studies (1221 patients) reported complication rates. The overall complication rate was 39.56% (95% CI 29.98–49.54%; $I^2=91\%$, as shown in Fig. 3).

Study	Events	Total	Proportion	95%-CI Weight
Abbas	75	119	0.6303 [0.5369; 0	0.7169] 5.1%
Amir	23	38	0.6053 [0.4339; 0	0.7596] 4.7%
Amudhan	18	48	0.3750 [0.2395;	0.5265] 4.8%
Chao	13	28	0.4643 [0.2751; 0	0.6613] 4.5%
Erdogan	12	28	0.4286 [0.2446;	0.6282] 4.5%
Eroglu	12	44	0.2727 [0.1496;	0.4279] 4.8%
Griffiths	24	34	0.7059 [0.5252; 0	0.8490] 4.7%
Haveman	20	24	0.8333 [0.6262; 0	0.9526] 4.4%
Hermansson	54	125	0.4320 [0.3437;	0.5236] 5.2%
Keeling	57	97	- 0.5876 [0.4831; 0	0.6867] 5.1%
Kuppusamy	31	81	0.3827 [0.2769;	0.4974] 5.0%
Linden	20	43	0.4651 [0.3118;	0.6235] 4.8%
Onat	13	30	0.4333 [0.2546;	0.6257] 4.6%
Peng	10	121	0.0826 [0.0403;	0.1467] 5.2%
Rubikas	36	84	0.4286 [0.3211;	0.5412] 5.1%
Sung	9	20	- 0.4500 [0.2306; 0	0.6847] 4.3%
Dziedzic	10	102	0.0980 [0.0480; 0	0.1729] 5.1%
Fattahi Masoom	4	27	0.1481 [0.0419;	0.3373] 4.5%
Hauge	3	21	0.1429 [0.0305;	0.3634] 4.3%
Navaneethan	2	20 -	0.1000 [0.0123;	0.3170] 4.3%
Wigley	40	87	0.4598 [0.3523;	0.5700] 5.1%
Random effects model Heterogeneity: $I^2 = 91\%$, τ	² = 0.0466	1221 6, <i>p</i> < 0.	0.3956 [0.2998; 0).4954] 100.0%

Figure 3. Forest plot summarizing pooled immediate complication rate after esophageal perforation.

Pooled complication rate of patients with conservative treatments was significantly lower than those with surgical treatments (37.29%, 95% CI 28.22–46.78% vs 48.72%, 95% CI 38.02– 59.87%, P=.004). The complication rate of studies published before 2010 was 48.62% (95% CI 41.92–55.35%), while that of studies published after 2010 was 25.89% (95% CI 11.45– 43.45%). The difference was also significant (P<.001).

For the effect of hospital volume, the complication rate for hospitals treated ≥ 5 cases per year was 36.20% (95% CI 18.45–56.10%), and that for hospitals treated <5 cases per year was 41.61% (95% CI 31.98–51.55%). There was no significant difference (P=.060).

4. Discussion

In spite of the low incidence of esophageal perforation, it has always been a serious medical emergency, prone to serious consequences. Because of these characteristics, the feasibility of conducting clinical trials has been compromised, especially the randomized processes seem so difficult to carry out in such populations. To date, the current evidence about the efficacy of treatment for perforations is based only in retrospective case series studies.

The present pooled analysis highlighted an overall immediate mortality rate of 9.86%. In the retrospective study of our center, the immediate mortality rate was 4.55%, which is rather lower than the pooled analysis of previous studies. For the morbidity rate, our center was also much lower than the pooled analysis (31.82% vs 39.56%). This may be related to the characteristics of the patients we treated. Most of the patients we treated were mild patients, and most of them are diagnosed in time (less than 24 hours).

This study showed that markedly increased mortality rate can be expected in patients undergoing surgical treatments than conservative treatments. This result is consistent with Biancari's study, but contrary to Hasimoto's. There was also a significant higher complication rate in patients with surgical treatments than conservative treatments. This may also be due to the choice of conservative treatment in the majority of mild cases, there was less chest contamination.

Comparing studies published at different decades, we found a significant decrease in both mortality and complication rates. The mortality rate decreased by 27.12% (from 11.32% before 2010 to 8.25% after 2010, P=.006), and the complication rate decreased by 46.75% (from 48.62% before 2010 to 25.89% after 2010, P < .001). This may be attributed to the more mature diagnosis and treatment technology, better surgical environment, and the application of new instruments and drugs in the last decade. Markar^[3] reported the reduction in mortality associated with increasing hospital volume. In their study, the volumeoutcome relationship seen appears to be continuous in nature, with a threshold of 3 cases per year (\geq 36 cases over the study period) this translates to approximately a 30% reduction in 30and 90-day mortality in multivariate analysis. The patients in the center with more cases are likely to be managed by multidisciplinary teams with access to high-quality services capable of better treatment in these complex patients.^[3] However, in our present study, the difference in mortality was not significant, with the threshold of 5 cases per year. The complication rates were slightly lower in centers with ≥ 5 cases per year, but the difference was not significant, too. In the last decade, the treatment of esophageal perforation has been gradually standardized, and the

gap of outcomes in various centers has been gradually narrowed. In addition, due to the implementation of hierarchical diagnosis and treatment, worst-off patients are often referred to large hospitals, which also result in that the large hospitals received relatively high mortality rate.

Several limitations of this pooled analysis should be mentioned here. There was no prospective study or randomized controlled trial detected, so all articles included were retrospective studies. The quality of individual studies included in the pooled analysis was not always optimal. Besides, there is heterogeneity and possibility of publication bias across some stratified analysis. Finally, only the studies in English language were considered. This may cause omission of relevant studies published in other languages. However, the results of this pooled analysis effectively summarize the immediate outcomes (mortality and complication rates) with current treatment modalities and provide a background for further studies on this severe emergency condition.

5. Conclusions

In summary, we investigated the treatment outcomes of esophageal perforation in our center and conducted a pooled analysis of results from other relevant published studies. In the past 2 decades, the overall immediate mortality rate was 9.86%. In addition, we found a significant decrease in both mortality and complication rates of studies published after 2010 compared with those before 2010, which suggested the outcomes of esophageal perforation treatment are getting better.

Acknowledgments

The authors wish to thank Dr Robert J Chen for the helpful indications and comments. Special thanks to Miss Chaoyue Yang for her encouragement and support.

Author contributions

Conceptualization: Yufeng Deng, Tianzhu Yuan.
Data curation: Yufeng Deng, Luqi Hou.
Formal analysis: Yufeng Deng, Tianzhu Yuan.
Funding acquisition: Tianzhu Yuan.
Investigation: Yufeng Deng, Luqi Hou, Dianyue Qin, Ting Huang.
Methodology: Yufeng Deng, Ting Huang.
Project administration: Yufeng Deng, Tianzhu Yuan.
Resources: Yufeng Deng, Tianzhu Yuan.
Software: Dianyue Qin, Ting Huang.
Supervision: Yufeng Deng, Luqi Hou, Ting Huang.
Validation: Tianzhu Yuan.
Writing – original draft: Yufeng Deng, Luqi Hou.
Writing – review & editing: Yufeng Deng, Tianzhu Yuan.

References

- Gurwara S, Clayton S. Esophageal perforations: an endoscopic approach to management. Curr Gastroenterol Rep 2019;21: Art. No.: 57.
- [2] Hasimoto CN, Cataneo C, Eldib R, et al. Efficacy of surgical versus conservative treatment in esophageal perforation: a systematic review of case series studies. Acta Cir Bras 2013;28:266–71.
- [3] Markar SR, Mackenzie H, Wiggins T, et al. Management and outcomes of esophageal perforation: a national study of 2,564 patients in England. Am J Gastroenterol 2015;110:1559–66.

- [4] Xiao K, Liu F, Liu J, et al. The effect of metformin on lung cancer risk and survival in patients with type 2 diabetes mellitus: a pooled analysis. J Clin Pharm Ther 2020;45:783–92.
- [5] Sdralis EK, Petousis S, Rashid F, et al. Epidemiology, diagnosis, and management of esophageal perforations: systematic review. Dis Esophagus 2017;30:1–6.
- [6] Cui XY, Sun SM, Liu J, et al. The efficacy and safety of valproate medications for migraine in adults: a pooled analysis. Eur Rev Med Pharmacol Sci 2020;24:5734–41.
- [7] Huedo-Medina TB, Sánchez-Meca J, Marín-Martínez F, et al. Assessing heterogeneity in pooled analysis: Q statistic or I² index? Psychol Methods 2006;11:193–206.
- [8] Li X, Li W, Liu G, et al. Association between cigarette smoking and Parkinson's disease: a pooled analysis. Arch Gerontol Geriatr 2015;61:510-6.
- [9] Viechtbauer W. Conducting Meta-analyses in R with the metafor package. J Stat Softw 2010;36:1–48.
- [10] Chen XJ, Tong ZC, Kang X, et al. ERCC polymorphisms and risk of osteosarcoma: a pooled analysis. Eur Rev Med Pharmacol Sci 2018; 22:6658–66.
- [11] Liu XF, Gao ZM, Wang RY, et al. Comparison of Billroth I, Billroth II, and Roux-en-Y reconstructions after distal gastrectomy according to functional recovery: a pooled analysis. Eur Rev Med Pharmacol Sci 2019;23:7532–42.
- [12] Abbas G, Schuchert MJ, Pettiford BL, et al. Contemporaneous management of esophageal perforation. Surgery 2009;146:749–56.
- [13] Aghajanzadeh M, Porkar NF, Ebrahimi H. Cervical esophageal perforation: a 10-year clinical experience in North of Iran. Indian J Otolaryngol Head Neck Surg 2015;67:34–9.
- [14] Ali JT, Rice RD, David EA, et al. Perforated esophageal intervention focus (PERF) study: a multi-center examination of contemporary treatment. Dis Esophagus 2017;30:1–8.
- [15] Amir AI, Dullemen Hv, Plukker JTM. Selective approach in the treatment of esophageal perforations. Scand J Gastroenterol 2004; 39:418–22.
- [16] Amudhan A, Rajendran S, Vimal Raj V, et al. Management of esophageal perforation: experience from a tertiary center in india. Dig Surg 2009;26:322–8.
- [17] Ben-David K, Behrns K, Hochwald S, et al. Esophageal perforation management using a multidisciplinary minimally invasive treatment algorithm. J Am Coll Surg 2014;218:768–74.
- [18] Biancari F, Saarnio J, Mennander A, et al. Outcome of patients with esophageal perforations: a multicenter study. World J Gastroenterol 2014;38:902–9.
- [19] Biancari F, Tauriainen T, Ylikotila T, et al. Outcome of stent grafting for esophageal perforations: single-center experience. Surg Endosc 2017;31:3696–702.
- [20] Chao YK, Liu YH, Ko PJ, et al. Treatment of esophageal perforation in a referral center in Taiwan. Surg Today 2005;35:828–32.
- [21] Dziedzic D, Prokopowicz J, Orlowski T. Open surgery versus stent placement in failed primary surgical treatment of esophageal perforation – a single institutional experience. Scand J Gastroenterol 2016; 51:1031–6.
- [22] Erdogan A, Gurses G, Keskin H, et al. The sealing effect of a fibrin tissue patch on the esophageal perforation area in primary repair. World J Gastroenterol 2007;31:2199–203.
- [23] Eroglu A, Turkyilmaz A, Aydin Y, et al. Current management of esophageal perforation: 20 years experience. Dis Esophagus 2009; 22:374–80.
- [24] Fattahi Masoom SH, Nouri Dalouee M, Fattahi AS, et al. Surgical management of early and late esophageal perforation. Asian Cardiovasc Thorac Ann 2018;26:685–9.
- [25] Gaudinez RF, English GM, Gebhard JS, et al. Esophageal perforations after anterior cervical surgery. J Spinal Disord 2000;13:77–84.
- [26] Griffin SM, Lamb PJ, Shenfine J, et al. Spontaneous rupture of the oesophagus. Br J Surg 2010;95:1115–20.
- [27] Griffiths EA, Yap N, Poulter J, et al. Thirty-four cases of esophageal perforation: the experience of a district general hospital in the UK. Dis Esophagus 2009;22:616–25.
- [28] Gupta NM, Kaman L. Personal management of 57 consecutive patients with esophageal perforation. Am J Surg 2004;187:58–63.
- [29] Han D, Huang Z, Xiang J, et al. The role of operation in the treatment of Boerhaave's syndrome. Biomed Res Int 2018;2018:1–5. Art. No.: 8483401.

- [30] Hauge T, Kleven OC, Johnson E, et al. Outcome after iatrogenic esophageal perforation. Scand J Gastroenterol 2019;54:140–4.
- [31] Haveman JW, Nieuwenhuijs VB, Muller Kobold JP, et al. Adequate debridement and drainage of the mediastinum using open thoracotomy or video-assisted thoracoscopic surgery for Boerhaave's syndrome. Surg Endosc 2011;25:2492–7.
- [32] Hermansson M, Johansson J, Gudbjartsson T, et al. Esophageal perforation in South of Sweden: results of surgical treatment in 125 consecutive patients. BMC Surg 2010;10: Art. No.: 31.
- [33] Jiang J, Yu T, Zhang YF, et al. Treatment of cervical esophageal perforation caused by foreign bodies. Dis Esophagus 2012;25:590–4.
- [34] Jougon J, Mcbride T, Delcambre F, et al. Primary esophageal repair for Boerhaave's syndrome whatever the free interval between perforation and treatment. Eur J Cardiothorac Surg 2004;25:475–9.
- [35] Kang D, Ryu D, Choi CW, et al. Clinical outcomes of iatrogenic upper gastrointestinal endoscopic perforation: a 10-year study. BMC Gastroenterol 2019;19: Art. No.: 218.
- [36] Keeling WB, Miller DL, Lam GT, et al. Low mortality after treatment for esophageal perforation: a single-center experience. Ann Thorac Surg 2010;90:1669–73.
- [37] Kiernan PD, Sheridan MJ, Hettrick V, et al. Thoracic esophageal perforation: one surgeon's experience. Dis Esophagus 2006;19:24–30.
- [38] Kuppusamy MK, Hubka M, Felisky CD, et al. Evolving management strategies in esophageal perforation: surgeons using nonoperative techniques to improve outcomes. J Am Coll Surg 2011;213:164–71.
- [39] Law TT, Chan JY, Chan DK, et al. Outcomes after oesophageal perforation: a retrospective cohort study of patients with different aetiologies. Hong Kong Med J 2017;23:231–8.
- [40] Lawrence DR, Ohri SK, Moxon RE, et al. Primary esophageal repair for Boerhaave's syndrome. Ann Thorac Surg 1999;67:818–20.
- [41] Lin Y, Jiang G, Liu L, et al. Management of thoracic esophageal perforation. World J Gastroenterol 2014;38:1093–9.
- [42] Linden PA, Bueno R, Mentzer SJ, et al. Modified T-tube repair of delayed esophageal perforation results in a low mortality rate similar to that seen with acute perforations. Ann Thorac Surg 2007;83:1129–33.
- [43] Minnich DJ, Yu P, Bryant AS, et al. Management of thoracic esophageal perforations. Eur J Cardiothorac Surg 2011;40:931–8.
- [44] Muir AD, White J, McGuigan JA, et al. Treatment and outcomes of oesophageal perforation in a tertiary referral centre. Eur J Cardiothorac Surg 2003;23:799–804.
- [45] Navaneethan U, Lourdusamy V, Duvuru S, et al. Timing of esophageal stent placement and outcomes in patients with esophageal perforation: a single-center experience. Surg Endosc 2015;29:700–7.
- [46] Okten I, Cangir AK, Ozdemir N, et al. Management of esophageal perforation. Surg Today 2001;31:36–9.
- [47] Onat S, Ulku R, Cigdem KM, et al. Factors affecting the outcome of surgically treated non-iatrogenic traumatic cervical esophageal perforation: 28 years experience at a single center. J Cardiothorac Surg 2010;5: Art. No.: 46.
- [48] Peng A, Li Y, Xiao Z, et al. Study of clinical treatment of esophageal foreign body-induced esophageal perforation with lethal complications. Eur Arch Otorhinolaryngol 2012;269:2027–36.
- [49] Persson S, Elbe P, Rouvelas I, et al. Predictors for failure of stent treatment for benign esophageal perforations-a single center 10-year experience. World J Gastroenterol 2014;20:10613–9.
- [50] Port JL, Kent MS, Korst RJ, et al. Thoracic esophageal perforations: a decade of experience. Ann Thorac Surg 2003;75:1071–4.
- [51] Richardson JD. Management of esophageal perforations: the value of aggressive surgical treatment. Am J Surg 2005;190:161–5.
- [52] Rubikas R. Pharyngeal and oesophageal injuries. Injury 2004;35:371-8.
- [53] Schmidt S, Strauch S, Rösch T, et al. Management of esophageal perforations. Surg Endosc 2010;24:2809–13.
- [54] Shaker H, Elsayed H, Whittle I, et al. The influence of the 'golden 24-h rule' on the prognosis of oesophageal perforation in the modern era. Eur J Cardiothorac Surg 2010;38:216–22.
- [55] Sung SW, Park JJ, Kim YT, et al. Surgery in thoracic esophageal perforation: primary repair is feasible. Dis Esophagus 2002;15:204–9.
- [56] Tomaselli F, Maier A, Pinter H, et al. Management of iatrogenous esophagus perforation. Thorac Cardiovasc Surg 2002;50:168–73.
- [57] Troja A, Käse P, El-Sourani N, et al. Treatment of esophageal perforation: a single-center expertise. Scand J Gastroenterol 2015;104:191–5.
- [58] Udelnow A, Huber-Lang M, Juchems M, et al. How to treat esophageal perforations when determinants and predictors of mortality are considered. World J Gastroenterol 2009;33:787–96.

- [59] Vallböhmer D, Hölscher AH, Hölscher M, et al. Options in the management of esophageal perforation: analysis over a 12-year period. Dis Esophagus 2010;23:185–90.
- [60] Vidarsdottir H, Blondal S, Alfredsson H, et al. Oesophageal perforations in Iceland: a whole population study on incidence, aetiology and surgical outcome. Thorac Cardiovasc Surgeon 2010;58:476–80.
- [61] Vinh V, Quang N, Khoi N. Surgical management of esophageal perforation: role of primary closure. Asian Cardiovasc Thorac Ann 2019;27:192–8.
- [62] Vogel SB, Rout WR, Martin TD, et al. Esophageal perforation in adults: aggressive, conservative treatment lowers morbidity and mortality. Ann Surg 2005;241:1016–23.
- [63] Wahed S, Dent B, Jones R, et al. Spectrum of oesophageal perforations and their influence on management. Br J Surg 2014;101: e156–62.
- [64] Wigley C, Athanasiou A, Bhatti A, et al. Does the Pittsburgh severity score predict outcome in esophageal perforation? Dis Esophagus 2018;32: Art. No.: doy109.